
CI using 𝑡: 𝑒𝑠𝑡𝑖𝑚𝑎𝑡𝑒 ± 𝑡⋆(𝑠𝑒) 

 

Critical Values for CIs (𝑧 or 𝑡 scores in bound) 

Z: 

90% (CL=.9 ➔ 𝛼 (p-value)=1-0.90=0.1, 2T): 1.645 

95% (CL=.95 ➔ 𝛼 (p-value)=1-0.95=0.05, 2T): 1.96 

99% (CL=.99 ➔ 𝛼 (p-value)=1-0.99=0.01, 2T): 2.576 

t: 

90% 𝑛 = 20 ➔ 𝑑𝑓 = 𝑛 − 1 = 20 − 1 = 19 (p-value=.1, df=19, 2T) = 1.729 

http://www.statdistributions.com/t?p=0.1&df=19  

95% 𝑛 = 20 ➔ 𝑑𝑓 = 𝑛 − 1 = 20 − 1 = 19 (p-value=.05, df=19, 2T) = 2.083 

http://www.statdistributions.com/t?p=0.05&df=19  

99% 𝑛 = 20 ➔ 𝑑𝑓 = 𝑛 − 1 = 20 − 1 = 19 (p-value=.01, df=19, 2T) = 2.861 

http://www.statdistributions.com/t?p=0.01&df=19  
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